Productivity

1. Fill in the missing words.
1.1 Labour productivity measures output per ________________. It is a measure of business _____________________.
1.2 Productivity is affected by the level of ______________________ in machinery and equipment, the amount and quality of staff training, and the level of employee ______________________.
1.3 If productivity rises when demand is unchanged, the likely consequence for staff is a programme of _______________________.
1.4 The formula for calculating productivity is ________________________. This shows output per worker.						       Number of staff employed
HINT: Use the following words to complete: efficiency, investment, motivation, output, redundancies/redeployment, worker

2. Calculations
2a)  Vartex employs 120 production staff. Their average earnings are £17,500 per year. This year’s output is expected to be 42,000 units.
i.  Calculate labour productivity at Vartex ________________________________________________

ii. Calculate the labour cost per unit ____________________________________________________
2b) A benchmarking exercise has shown that Vartex’s most efficient competitor pays £21,000 per year to its 80 staff. The staff produces a total annual output of 48,000 units.
i.  Calculate the competitor’s labour productivity ___________________________________________

ii. Calculate the labour costs per unit for the competitor _____________________________________
iii. Both firms price their goods at £59.00. Assuming there are no other costs, what profit per unit is made by each business? 
_______________________________________________________________________________

3.  Capital Productivity
Write the formula for measuring capital productivity below
 		________________________    =


4.  Cause and Effect.	
Some of the following statements are causes and some are effects of low productivity at a business. Others are neither. Write a C or an E by the causes and effects of low productivity. Put an N by the others.
	1. High labour costs per unit
	6.  Old machinery

	2. High automation
	7.  Business is uncompetitive internationally

	3. Low profitability
	8.  Poorly educated and trained workers

	4. Low morale among the workforce
	9.  Prices may need to rise

	5. High levels of re-working
	10. Less labour required in the short term



5.   Methods of improving productivity

	Make notes explaining the methods of improving productivity:











	Why do businesses measure productivity?
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Added Value Question
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Problems to resolve at Harding’s Stoves

Mike Harding has enjoyed a great deal of success over
the last ten years designing, manufaciuring and fitting
high quality wood-burning stoves. He now employs 50
workers in his business and his order book is looking
good for the next 12 montns.

Departments and number of employees at Harding’s.

Fitting (3)

Design (1) Sales )

Mike Harding
Owner and
Managing Director

[Aaministration and
Production (38) Accounts (4)

Cleaning (2)

Unfortunately, as the business has grown, o have the problems Mike has to eal with.For
‘example, having manufactured and installed 48 op of the range stoves for a local housebuider
last year, Mike had stil not been paid and this was having an impact on his working capital
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‘To make matters worse, a number of stoves had ot passed final inspection prior to despatch,
because they did not mest the very high quality standards that Mike insisted upon. Mike was
very concerned about recent quality issues and the faling labour productivity, as well as
the increasing number of complaints related to customer service. He called in his shop-floor
manager, Efic, to discuss his concems.

Eric pointed out: “We are going to have to change the way we work if we are to maintain the
quality we pride ourselves on, especially now that we have so many staff. | think you have
forgotten what it's fike on the factory floor because you are out and about looking for new
customers most of the time. It like | have always said — production is the most important
department if this business is to succeed
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What is labour productivity? [}
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Briefly explain one way in which Mike Harding could improve labour productivity in
the business. €]
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Mars in the United Kingdom

In 1932 Forrest E Mars arrived in England from the USA and set up a factory in Slough
to produce the now, world famous Mars Bar. Since then the privately owned company has
produced numerous successful brands in cach of its five key segments: Chocolate, Food,
Petcare, Drinks, and Gum and Confectionery. The Mars Bar s still a great success today and
over 3,000,000 are produced each day at the factory which s still located in Slough. The Mars
Bar has been a ‘cash cow’ for the company for many years and the chocolate bar has enjoyed
a very lengthy Product Life Cycle as one of the leading brands in the UK chocolate market.
The branding of numerous products using the ‘Mars’ name has been a significant part of the
corporation’s marketing policy over the last 80 years.
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The Mars Corporation is guided by ‘Five Principles’. An extract from the Mars UK Website
relating to its Efficiency Principle is set out below:

Our strength lies in our efficiency, the ability to organise all our assets
— physical, financial and human — for maximum productivity. In
this way, our products and services are made and delivered with the
highest quality, at the least possible cost, with the lowest consumption
of resources.

(d)  What is labour productivity and how might it be measured? “
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(e) Explain possible methods which businesses such as Mars might use to improve their
productivity.
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Ukuleles strike a chord at Miles Guitars

Miles Guitars is solely owned by Dave Miles, who set up the business 25 years ago. The
business had built an excellent reputation for making top quality acoustic guitars. The recession
was taking its toll, and when he viewed the Profit and Loss Account for 2013, sales revenue had
fallen worryingly. Reluctantly, Dave who had always adopted a democratic leadership style,
called all 27 members of his staff together to discuss the worrying situation and the possible job
losses that might be necessary.

At the meeting one of the apprentices, who had recently joined a local ukulele band, suggested
that ukuleles were something that the firm might consider making. Dave was aware of the
increasing popularity of the instrument and undertook some market research to assess the
potential of the market. Following a great deal of discussion with his senior members of staff,
Dave decided to start making ukuleles in an attempt to revive the business. He estimated that
there would be a good deal of added value in the production process and this encouraged him
to proceed

Table 1
Cost of raw materials for each ukulele: Selling Price
+ Wood - £20 £130
« Strings - £4
« Other materials - £10
+ Case-£9
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What is added value? 21

Using the figures in Table 1 calculate the added value for each ukulele that Miles
Guitars will produce. 121




